Math 109      Quiz 7      10/23/07
1.   Solve the inequality  x2 - 6x -7 > 0.   

          x<-1  or  x>7     [cannot be written -1>x>7]
2.   Solve the inequality   (x-2)(x+1)(x+5) ( 0.

             x(-5  or  -1(x(2
3.   Does the following rule define a function?  Explain.
        x      3     1     2     3     4              
       ------------------------------         
        y      4     1     2     5     3    
        No.  There are two values for y when x is 3.   [4 and 5]         

4.   State the domain for the following function.
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             x>6   [not x(6]
5.   Suppose g(x) = x2 + 5x.  Find the following:

        a.  g(4)            36
        b.  g(b-2)        b2+b-6
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